
Name:  ____________________________________________
CC Geometry

                                                                       Circle Geometry - Review for Quiz

Questions 1 through 4 refer to the following:

For the given circle, find the value of x.

1) 

2) 

3) 

4) 

5) In the diagram below, diameter CD B chord AB.

If AB = 12 and CE = 9, find ED.

6) Tangents PQ and PR are drawn to circle O from P in
the figure below.

If mQSR = 240D, find mAP.

7) In the accompanying diagram, AB is tangent to
circle O and secant ACD is drawn.

If AB = 4 and AD = 8, find AC.
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8) In the accompanying diagram of circle O, PA is a
tangent and PBC is a secant.

If PB = 2 and BC = 6, find PA.

9) In the diagram below, secant VS and tangent VB are
drawn to circle O.

If mSB = 170D and mGB = 90D, find mAV.

10) In the accompanying diagram of circle O, chord AB
bisects chord DC at E.

If AE = 2 and EB = 8, find the length of chord DC.

11) In the accompanying diagram of circle O, chords AB
and CD intersect at point E.

If AE = 2, CD = 9, and CE = 4, find BE.

12) In the diagram below, secant segments PR and PT
intersect at P.

If PR = 14, PQ = 6, and PS = 4, find PT.

13) In the above diagram, chords AB and CD intersect at
point E in circle O.

If AE = 6, CE = 8, and ED = 3, find EB.
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14) Secants PR and PS are drawn to circle O from P in
the figure below.

If mTQ = 20D, mTS = 90D, find mAP.

15) In the diagram below, secant segments PR and PT
intersect at P.

If PR = 24, QR = 16, and PT = 16, find PS.

16) In the diagram below, BA is tangent to circle O at A

and BD is a secant.

If AB = 12 and BC = 9, find BD.

17) In the diagram below, secant VS and tangent VB are
drawn to circle O.

If mAV = 33D and mSB = 165D, find GB.

18) In the accompanying diagram of circle O, the
measure of AKLM is 38D.

What is the number of degrees in the measure

of KM?

19) In the diagram below, chord AB C chord BC.

If mAB = 52D, find mAC.
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20) In the accompanying figure, central angle BOC
measures 60D.

What is the number of degrees in the measure of
inscribed angle BAC?

21) In the accompanying diagram, chords AB and CD
intersect at E.

If mAD = 70D and mBC = 40D, find mAAED.

22) In the accompanying diagram of circle O, chord AB
is parallel to chord CD.

If mAC = 100D, find mABOD.

23)

If mQS = 110D, find mASQR.

24) In the accompanying diagram, BA is tangent to
circle O at A. Radii OA and OC are drawn, and OC

is extended to intersect BA at B.

If BA = 15 and OB = 17, find the measure of a radius
of circle O.

25) For the given circle, find the value of x and y.

2199 - 1 - Page 4



26) In the accompanying diagram, AC and BD are chords
of circle O and intersect at E.

If mAB = 70D and mCD = 90D, find mABEA.

27) In the accompanying figure, AD is tangent to circle O
at D and ABC is a secant.

If AD = 4 and AC = 8, find AB.

28) AB is a chord in circle O and CD is tangent at B.

If mAABC = 56D, find mAB, mAEB, and mAABD.

29) In the diagram below, AE and AC are secants to
circle O from A.

If mAA = 20D and mDB = 60D, find mEC.

30) In the diagram below, PA is tangent to the circle at A
and PBC is a secant.

If mAB = 80D and mBC = 100D, what is mAAPB?

31) In the accompanying diagram, the measure of arc AB
is 40D.

What is the measure of inscribed angle ACB?
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32)

If AD = 3, DB = 2, and BC = 8, find AC.

33) Quadrilateral MOAB is inscribed in circle P below.

If mAO = (5x + 18)D and mAB = (6x * 14)D,

find mMOA. [Show all work.]

34) In the diagram below, PA and PB are tangents to
circle O from P and chord AB is drawn.

If mAP = 50D, find mAPAB.

35) In the accompanying diagram, circle O is inscribed in
hABC so that the circle is tangent to AB at F, to BC

at E, and to AC at D.

If AF = FB = 5 and DC = 7, find the perimeter of
hABC. [Show all work.]
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1) 40D

2) 70D

3) 60D

4) 20D

5) 4

6) 60D

7) 2

8) 4

9) 40D

10) 8

11) 10

12) 21

13) 4

14) 25D

15) 12

16) 16

17) 99D

18) 76D

19) 64D

20) 30D

21) 55D

22) 100D

23) 55D

24) 8

25) x = 90D, y = 105D

26) 80D

27) 2

28) mAB = 112D, mAEB = 248D, mAABD = 124D
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29) 100D

30) 50D

31) 20D

32) 9

33) mMOA = 164D

WORK SHOWN: 5x + 18 + 6x * 14 = 180, 11x = 176, x = 16; mAMBA = 6(16) * 14 = 82D; mMOA = 2(82) = 164

34) 65D

35) 34
WORK SHOWN: Tangent segments from the same external point are congruent, so AF = AD = 5 and FB = BE = 5.;
P = 4(5) + 2(7) = 20 + 14 = 34

Answer Key 2199 - 1 - Page 2


